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HFHINA SREEER (FF)
~Mathematical content~ ~English(Math) ~

365 H235/940 X4=1461 - + - - PU4EfE D H U fE] D BHEL days of four years
%Y kishitsu

1461X940+4=343335+ + + - HEH XIA kiei

343335+940=365H1/4 - - - - YR sakkyo

365H1/4—360=5H235/940 -« + -+ - K& —FDFEZFR leap-rate of ayear

360 H —354 H 348/940=5H592/940 + - - - W& 194E M A #L months of nineteen years

5H235/940+5H592/940=10H827/940 + + - « —F D3R 1yt

32 H601/940—29 H 499/940=3 [ 102/940 - - -

365H94077M235 X 4 three hundred sixty-five days

228+7=235+ + + 199D H K nine hundred forty over two hundred thirty-five times
1520+20="76+ - + « —¥f four

940+-4=235°+ =+« - -

499X 12=5988 + + « + —H (U\ EOX) TORY A 120 A E T F*Y one thousand four hundred sixty-one times nine
5988+-940=6H 348/940 + - - hundred forty divided by four equal three hundred forty-
235X4=940 (764) three thousand three hundred thirty-five

1461X19=27759 « « » - —H (O&HX) 43D HE
27759-+-940=29H499/940 « + - - —H (U\ EOX) OHE, AREWVWI, three hundred forty-three thousand three hundred
thirty-five divided by nine hundred forty equal three

hundred sixty-five and one quarter

2

T =h=s

9&.:.:! T I A three hundred sixty-five days and one quarter
— Engl|3h~ minus three hundred sixty equal five days and two
hundred thirty-five over nine hundred forty

Number of days that the sky takes to around is three hundred Hw33 three hundred sixty days minus three hundred
Sixty-five days nine hundred forty over two hundred thirty-five. This is fifty-four days three hundred forty-eight over nine

the number of days in a year. hundred forty equal five days five hundred ninety-two
Therefore, the number of days in four years is three hundred sixty- over nine hundred forty

five nine hundred forty over two hundred thirty-five times four equal
one thousand four hundred sixty-one.

Namely, one thousand four hundred sixty-one days.

Now, we explain Kiei and Sakkyo.

Kiei and Sakkyo is definition.

leap-rate of a year five days two hundred thirty-five
over nine hundred forty plus five days five-hundred
ninety-two over nine hundred forty equal ten days eight
hundred twenty-seven over nine hundred forty

Kiei is the number of days in a year minus three hundred sixty. thirty-two days six hundred-one over nine hundred forty
Kiei plus Sakkyo is leap rate of a year. minus twenty-nine days four hundred ninety-nine over
This question assume that the number of days in the month that it is nine hundred forty equal three days one hundred-two
about thirty days. So, leap rate of a year, ten days nine hundred forty over nine hundred forty

over eight hundred twenty-seven times three is thirty-two days nine
hundred forty over six hundred one. Therefore, thirty days which is
assumed that the number of days in a month is filled. Namely, that is

months of nineteen years  two hundred twenty-eight
plus seven equal two hundred thirty-five

leap. Leap becomes once in three years. That is becomes leap seventh A" one thousand five hundred twenty divide

in nineteen years. Nineteen years called Issyou. twenty equal seventy-six

A year has twelve months. So, nineteen years have two hundred

twenty-eight months. Besides, there are seven leap for nineteen Nine hundred forty divide four equal two hundred thirty-
vears. So, two hundred twenty-eight plus seven is two hundred thirty- five

five. It is the number of months in nineteen years.

Yonsho is seven-six years

Seventy-six years have nine hundred forty months. The number of
days in four years is one thousand four hundred sixty-one. One

Surplus of a month times twelve months four
hundred ninety-nine times twelve equal five thousand
nine hundred eighty-eight

thousand four hundred sixty-one days times nineteen equal the Five thousand nine hundred eighty-eight divide nine
number of days in seventy-six years. hundred forty equal six days three hundred forty-eight
The number of days in seventy-six years is twenty-seven thousand over nine hundred forty

seven hundred fifty-nine days.

The number of days in seventy-six years divide the number of months
IS seventy-six years equal twenty-nine days nine hundred forty over
four hundred ninety-nine.

Seventy-six years two hundred thirty-five times four
equal nine hundred forty

Getuzitu of month one thousand four hundred sixty-
one times nineteen equal twenty-seven thousand seven

It is the number of average days in a month. hundred fifty-nine
Days of month (gessaku) twenty-seven thousand
seven hundred fifty-nine divide nine hundred forty equal
E,ZZI:E twenty-nine days four hundred ninety-nine over nine

hundred forty
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The original sentence is very long, it is difficult for us to decipher the sentence. We determined the average number of days in a month
We did not understand what the value prove, because the original sentence used with the number of days and the leap month of each
many technical terms. month.
We want to ask some questions and interpret the original text in
announcement of January because we have not understood overall flow of
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